
 

1. Simplify 
a. (3𝑥ଶ)(2𝑥ଷ)(5𝑥ହ) 

b. ସ௫ళ

ଶ௫ఱ
 

c. (14𝑎ଶ𝑏ଷ)(7𝑎ିଶ𝑏ିସ) 

d. ൫଺௣ర௤మ൯
మ

(ଷ௣మ௤ర)య
 

e. 
ଶ൫௔௕మ௖൯

షర

(௔మ௕య௖)షయ
 

f. ௔షభ௕మ

ଶ௔షయ௕ర
 

2. Evaluate 
a. 3ିଷ 

b. ቀଷ
ସ
ቁ
ଶ
 

c. ቀ
ଷ

ହ
ቁ
ିଶ

 

d. 81
య

ర 
e. 5ିଷ × 5ସ 
f. 2ିଵ + 3ିଵ 

3. Write in exponential form 
a. ଵ

௫మ
 

b. √𝑥ଷ 
c. ଵ

ඥ௫ఱ
 

d. ଷ

௫షర
 

e. 7√𝑥
య  

f. ିହ

√௫మ
ఱ  

4. Put in radical form 

a. 8𝑥
మ

య b. 100𝑥ି
ఱ

మ 
5. Evaluate 

a. √36𝑎ସ𝑏ିଵଶ b. (27𝑥ଵଶ𝑦ିଽ)
మ

య 
6. Solve 

൬2𝑥ି
ଵ
ସ൰

ସ

൬2𝑥ି
ଶ
ଷ൰

ିଷ

=
1

8ିଶ𝑥ିଵ
ቌ൬𝑥

ଶ
ଷ൰

ଷ
ଶ
ቍ

ିଵ

 

7. Simplify 
a. (3𝑥଻𝑦ସ)(−2𝑥ଷ𝑦ଶ) 

b. ଵ଴௫ల௬మ

ିହ௫ర௬షమ
 

c. ൫ଶ௫మ௬య൯
య
∙൫ହ௫భబ௬ర൯

ଵ଴ మ௬ళ
 


